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When the number of around the lowest layer is 18,how many cookies? The number of layer 1 9 3 4 5
(n)
When the number of around the lowest layer is 18and we pile cookies The total number 1 7 19 37 61
with four layer. The total number of cookies is 64. (a)
The increment number| ¢ 12 18 24
And under the tower, we add more one layer that the number of (b) . . .
around is 24 and the total number is 61. Then the total number of How to increase layer is explained b,=6,
tower is 125 The total number can be explained in Difference
’ sequence.(below)
a,.a,tb;
::‘ju’r‘]‘;”t‘::r of|24 |30 (36 |42 |48 54 60 a;.a,+b,= a;+b +b,
lowest layer ay-aztb,. a;+b,+b,+by
The number of |4 5 6 - 3 9 10 a,- i1:+b1+b2+b3"'+bn-lbn1"
layer 1+ Z bk
The total 125|216 (343 (512 |729 (1000 [1331 :1:6:3h(n»1)
number =1+3n(n-1)
=3n2-3n+1n..D
According to the list, when the number of around the lowest layer (% ./p& «
. . By substituting number of layer into “n”, we can find an
increase 6, layer and total number increase. Kohara Answer.
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various fields to untie it not specializing it in
one field to use power such as ancient writings,
English as well as mathematics, | felt the native
mathematics of Japan.

Group Leader:Kohara
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I'd like to reconsider the rationality of the group through an
announcement of other groups, look for the common denominator
with the problem that I took charge and deepen more
understanding to the native mathematics of Japan.




